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1) log, 1=0 2) logc',%i éﬁm%ﬁs log, b+log, c=log (bc)

4) log, b—-log, c=log, b 5) log, b" =r-log, b
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6) log . b= % -log b
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Boiuucantes (290—294).

1) log,, 5 + log,, 2;
3) logy, 2 + log,, 72;

1) log, 15 - log, i-g;

3) log, 54 - log, 2;
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2) logQMeRdAlog,, 125;
4) log, 6 + log, -:—

2) log: 75 — log; 3;

4) logg % - log ¢ 32.
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1) log,, V169 ; 2) log,, V121;
3) log, V243; &) logs ——
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1) logg 12 — logg 15 + logg 20;
2) logg 15 + logg 18 — logy 10;

3) % log, 36 — log, 14 — 3log, ¥21;

4) 2log, G—é-logl 400 + 3 log, V45.
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